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Topic:- General Knowledge and Logical Knowledge

1) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply
* => Division
/ => Addition
- =>Equal to
= =>Minus /

&=l o1 wrauTigds srvmaH oY ok Fafafaa & forg am @l
g,

+ =>IIU'|T

¥ => YT

/ =>

- => $ W

= =>Ycld
(18/2=10)*2+4/10
1. 10

2.28

3.20

4. 30

Correct Answer :-

e 30



2) River that flows in the eastern part of Madhya Pradesh and drains into Bay of Bengal near Orissa is /

YT U= & YAl &1 A 98 areil ) St ST & U e ot Wrel | et @
1. Denwa/a_*ﬁﬂ
2. Shipra / TRI0T

3. Chambal / ddd

4, Mahanadi / Ilﬁlqé

Correct Answer :-

« Mahanadi / g2l

3) Provision of ‘Employment to All' comes under / FEDH I AR’ BT WG 3'\"-@? e erar @
1. Directive Principles of State Policy / I & i Fdere da

2. Industrial Policy / et Hifa

3. Fundamental Rights / HeTHd DR

4. Labour Laws / 98 Tadit CabG!

Correct Answer :-

 Directive Principles of State Policy / XIw & ifa e a@

4) Which among the following rivers flows into the Bay of Bengal? / g afea § @ #1979 Ima
P @S A 9gdl 87

1. Narmada / :ﬂ:f?[
2. Netravati / dd!

3. Brahmaputra / SSeTqA

4. None of these / s:i'ﬁ J ?ﬁ'ﬁc T8l

Correct Answer :-

e Brahmaputra / STgT4A

5) Which glacier is the source of the Brahmaputra river? / Cac| 1 %TF'I?{ CIIE] 7'|?ﬂ BT Tl %?
1. Gangotri Glacier/‘i‘iﬁn RURE

2. Siachen Glacier / FRATRA fgHg

3. Angsi Glacier / 3T fg0TG



4. Kafni Glacier / HPH! fgHe

Correct Answer :-

» Angsi Glacier/m l%qﬂa

6) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty? / IBE]

H DI AT S ME G & HigHHG ST T BT HBERT &2
1. Juma Masjid / AT ARSG

2. Gol Gumbaz / T &Sl

3. Qutub Minar / e HIFR

4. Taj Mahal / dIsl Hedl

Correct Answer :-

¢ Gol Gumbaz / Th?fﬂa\_rf

7) is a widely practised form of folk music in southern Malwa which came through the

Marathas. / , ST ATeaT § 1Y U A MAT-SSTd] THardl dieid g, St Axrsre
BIBR 3T YT

1. Chaiti / dat
2. Garba / TRdT
3. Lavani / @Td-

4. Stobha / TIHT

Correct Answer :-

« Lavani / @Ta-T
8) Panna in Madhya Pradesh is associated with / H&I U%QT H =11 A 9 wdfta %:

1. Mica / HIghIT
2. Manganese / i

3. Diamond / gﬁT

4. Copper / (_'ITVEIT

Correct Answer :-

e Diamond/ m



9) If KARTIK is coded LCUXNQ, then how is VINAYAKA coded? / tlﬁ KARTIK &1 LCUXNQ |

Fifed far ST 8, @t VINAYAKA &1 &9 Pifsd far s
1. WJQEDQHI
2. WKQECGRI
3. WKQEDGRI

4. WKQFDGRI

Correct Answer :-
« WKQEDGRI

10) The English East India Company was abolished in the year . / 3R E‘R 3'%111 HU B af
H WA B fear mar T

1. 1856
2. 1858
3. 1857

4. 1860

Correct Answer :-

11) The term of President of India is / W%W B HRIBTA ¢
1. 5years/5 CL
2. 4years / 4 Gl
3.3 years/3 CL

4. 7years/7a'5f

Correct Answer :-

. Syears/Sa'ﬁf

12) The Omkareshwar multipurpose project is located at / PRI EEB%QFW LITOIEE] 'Clﬁtﬂ' 5G]

1. Vidisha / IEIEQ



2. Sidhi / e}
3. Dhar/ YRR

4, Indore / 3@7

Correct Answer :-

e Indore/ 37%?

13) The State which accounts for more than 90 per cent of total rubber production in India is / HR< H

TR & $d IS BT 90 Ufa=ra It fhy Isa A a1 82
1. Karnataka / -Ilced
2. Tamil Nadu/?‘lﬁl?ﬂ’l_g’

3. Andhra Pradesh / 3T/ m
4. Kerala / HYd

Correct Answer :-

« Kerala / B3

14) Who was referred to as the “Ambassador of Hindu-Muslim Unity” by Sarojini Naidu? / RIS

A1gg A f5 “feg-gafera Toar &1 Teiga” H81 14T A
1. Muhammad Ali Jinnah / nﬁem'c: 3fett foraT

2. Shaukat Ali / 2 fait

3. Abdul Ghaffar Khan / 3egd THRPR W4

4. Maulana Azad / AT 3Hllq

Correct Answer :-

e Muhammad Ali Jinnah / Ingﬂ:l?f 3fat form

15) Who was the first Indian woman president of Indian National Congress? / ﬂ-ﬂ?_cﬂ'q?T@'q IR B

gl YR Afge srede di At

1. Vijayalakshmi Pandit / faSraaedt ufed
2. Sarojini Naidu / RIS a1ag

3. Nellie Sengupta / ac_vﬂ@:ﬂ]?ﬂ

4, Annie Besant / Q:ﬂa@'_\:'



Correct Answer :-

« Sarojini Naidu / SRIFSHT ARIg

16) In asingle throw of a fair dice, what is the probability of getting an even number greater than three? /

T 08 U 9 U aR Bhhd R, i A 951 U IH BT UTW g1 &1 T UTiihdT 82

1
3
1.
1
6
2
1
2
3.
2
3
4,

Correct Answer :-

g =

17) Find the odd one out / T& faWH JTd HIfeTT:
1. Door / GRdTal

2. Window / a1

3. Gate / gRR

4. Table / BT

Correct Answer :-

« Table /B9

18) Find the odd one out: /Wﬁ'ﬂ'ﬁﬂﬁ?ﬂﬁﬁ:
1. In and Out / 3icR YT dTER
2. Black and White / BTl dUT T

3. High and Low / ST aYT =



4. Weapons and Arms / 3{¥d dYUT ¥

Correct Answer :-

e Weapons and Arms / 3¥d d¥T [Rd

19) Find the odd combination of letters and numbers from among the following: / Iﬁal%ﬂaa 'el '\ﬁ G{&I?}f
T4 HET3f} BT fauH Jaie J1d 3

i. 1293520 ii. 1293502 iii. 1293520 iv. 1293520

1. 1v

2. iii

3.ii

4.1

Correct Answer :-

20) In a certain code language, I am hungry means Ching Ling Lu; | eat fruits means Ling Li Mon; | am thirsty
means Lu Su Ling. Which is the word for Am in that code language? / Tdh ¥TH HIS HTUT ﬁ, I am hungry &1
3 Ching Ling Lu; I eat fruits BT 3ref Ling Li Mon YT I am thirsty b1 3% Lu su Ling ﬁ?ﬂ %I e PIS UIHT

H am & fore fre wIsg &1 33w fovan T 82

1. Ling
2. Ching
3. Li

4. Lu

Correct Answer :-

21) In a certain code language, ise sep vaz means drink hot coffee, ezy vaz kam means hot air balloon, seg
ezy poz means blow cold air. Which is the word for balloon in that code language? / € WIH IS HIT ﬁ,
ise sep vaz BT 3 & drink hot coffee; ezy vaz kam PT 3 & hot air balloon TYUT seg ezy poz BT 3 A blow cold

airﬁ?lT%l wmwﬁba/loon%mmwmsﬁm%mw%?
1. kam
2. poz

3. sep



4. ezy

Correct Answer :-
o kam

22) If THIRST is coded UIISTU, then how is LAMENT coded? / Gf& THIRST @Y UisTU | BifSd fha1 ST §,

at LAMENT B B FIfST farar smawm?
1. SMDLZK
2. KZLDMS
3. MANTLE

4. MBNFOU

Correct Answer :-

e MBNFOU

23) If DUTCH is coded BTTDJ, then how is CROWN coded? / f& DUTCH DY BTTD | PIfSd fhaT W1 2,

at crown Y FA Fifsd forar AT
1. AQOXP
2. AQOYP
3. APOXP

4. AQPXP

Correct Answer :-

 AQOXP

24) was honoured with the Best Actor Award at the 64" National Film Awards in 2017? /2017 'el 64a

WHFrERSRIA ) 9498 fiHar R & awfd foar mar ur
1. Anil Kapoor / 31d HYR

2. Manoj Joshi / AT SR

3. Aamir Khan / 3R @

4, Akshay Kumar / 3{&J $HR

Correct Answer :-

 Akshay Kumar / H&d $HR



25) Complete the series choosing the missing letter/s: / Ul SER/HERT B AP Al L] g PIfoTC:
AZ,CX,EV,GT,___

1.IR

2. QK

3. OP

4. MN

Correct Answer :-

26) Complete the series choosing the missing number: / &l =T gAY m Ca T ﬁﬁnz:
3,7,7,13,11,19,15,

1.29

2.25

3.23

4. 30

Correct Answer :-

27) Famous male Hindi play back singer, music composer, actor and lyrist born in Khandwa

was / @Usal ¥ 5 ufig g i iRt umanmaes, Moo, Wiftaer, sifiqdr, ik dvmares &
1. Varsha Verman / 981 a1

2. Deepak Chusala / 410 IITa

3. Salim Khan / SQiH @

4. Kishore Kumar / f&=RIR $HR

Correct Answer :-

« Kishore Kumar / f=IR PHR



1. Arya Samaj / 3 HTS

2. Prarthana Samaj / PINBIESEI]

3. Ghadar Party / TTaX uref

4. Theosophical Society / it W

Correct Answer :-

» Theosophical Society / fRthed TS

29) As per census 2011, the most densely populated Union Territory in Indiais / 2011 ®t
ST & SR, YR d Jaifie gt STardt arem &ws iRid UewT &

1. Lakshadweep /FI&‘I@TCI

2. Pondicherry / gﬁﬁ

3. NCT of Delhi / ST oot & faeeft
4. sikkim / RfeRpH

Correct Answer :-

« NCT of Delhi / XS TSIYTt & feeett

30) The series given below contains a sequence of numbers. Identify the incorrect combination: EiG] E.pf 11-5‘

@ H, T=AT3il &1 TP P IR 3 | 7Tad Haiel- Ugar-ie:

1,8,3,6,5,4,6
1.6
2.3
3.8

4.4

Correct Answer :-

31) Harshavardhana was defeatedby /g4 __ gRTWRIfoE g€ A
1. Taila I1 / << ||

2. Jayasingha /\_ﬂtlﬁi_t‘;



3. Pulakesin I /E\K“Iﬁq |
4. Pulakesin II /gﬁﬁ:{ 'l

Correct Answer :-

e PulakesinII/ g?la?ﬁl:[ [

32) The first Indian to be elected as the President of UN General Assembly was /

UG Y HETHHT & A& F U | g o aral Ugd YR 3
1. S. Radhakrishnan / T8 TUTGHA

2. Acharya Kripalani / 39T HUTT

3. V.K. Krishna Menon / dt.o. W1 B

4. Vijayalakshmi Pandit / fasraaedt dfed

Correct Answer :-

« Vijayalakshmi Pandit / fasrraedt dfed

33) In the following list of numerals,
7897653428972459297647
Which figures have an equal frequency? /

st o P e
7897653428972459297647
= st B srqftr T\ 82
1.3,7,5

2.8,6,5

3.2,4,5

4.2,5,3

Correct Answer :-

e 8,65

34) Article 368 of the Indian Constitution deals with . | U TfAe 371 3¢ 368
GECINGE]

1. Emergency provisions / M IMIGCARIRRYICEIE]
2. Amending Procedure / SRNE UfehaT



3. Right to primary Education / W48 fR1ef &7 SMfdR
4. Right to Information / T bl HfYDR

Correct Answer :-

» Amending Procedure /W?FT ufsear

35) Select the option that is true about the Statements and Conclusions given:

Statements:
Some dopes are bricks
No trucks are dopes

Conclusions:
I. No bricks are dopes
I1. Some trucks are dopes

1 39 fae BT 99+ B HP faT ¢ HY=1 3R fFrewei & o & Tt 8:
Y

POSIUZEE

o WgpSuEie

Ao

I 315 e siuEt e

I. PO TH SIUT

1. neither conclusion I nor conclusion II follows /= g fTSHT I 3R 7 81 FHH 11 SRV H=dl §
2. both conclusion I and II follows / FT5HY I 3R 11 GHT STERTT Hd §

3. only conclusion II follows / ad fASHY 11 STIRTT BT &

4. only conclusion I follows / B HY [ TRV BT §

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B FshY 1 3R 7 81 FshY 11 3[IXRUI Hd &

36) Select the option that is true about the Statements and Conclusions given:

Statements:
All garments are towels
No towel is a shirt

Conclusions:
I. No garments are shirts
II. Sqme shirts are garments



1 39 faseq &1 79 HifeTe iife feT 1T HYAT 3R Aol & R d T3l 7:
BY:

¥t e difere

®I3 diferar wifte 1 R

.

I. BIg 9% HHIS 81 &

II. TS HHIS oA &

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY 1 3R 7 & FASH 11 SR & §
2. both conclusion I and II follows / FISH I 3R 11 GFI SR B &

3. only conclusion II follows / HId fISHY 1T SITTRUN FHal &

4. only conclusion I follows / A T5HY I SFIHRUT T §

Correct Answer :-
« only conclusion I follows / Had pY 1 STV hdl g

37) Select the option that is true about the Statements and Conclusions given:

Statements:
Some tables are chairs
Some tables are cots

Conclusions:
I. Some chairs are cots
II1. All tables are either chairs or cots

/ 39 faweu &1 9u9 Fifore Sife 2 mu Hy=1 ik fAswpul & IR A I8l &:

HY:

o A9 PRIl ¢

PO AT EC &

Ao

I. $© PRIAr 9K §

I 9t a9 wr at pRIAT & T @Te &

1. neither conclusion I nor conclusion II follows /= g fTsHT I 3R 7 81 FHH 11 SRV H=dl §
2. both conclusion I and II follows / F5HY I 3R 11 GHT STERTT Hd §

3. only conclusion II follows / ad fASHY 11 STIRVT BT &



4. only conclusion I follows / dad ey 1 SRV hdT g

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B FsBY 1 3R 7 €} Fshd 11 SIXRUI HR &

38) Select the option that is true about the Statements and Conclusions given:

Statements:
All insects are ants
All ants are bears

Conclusions:
I. No bear is an insect
I1I. Some bears are ants /

I fawed 31 9u+1 Fifg e Gy 7T Hy=1 3R fewel & av § T8t &
Y

at Pe difeai &

ot fifeai ure &

e

I. B YT Pie T &

II. $ YIq Hifear §

1. neither conclusion I nor conclusion II follows / 7 &1 f¥5HY 1 3R 7 & FAsH 11 SR - §
2. both conclusion I and II follows / fISH Y I 3R 11 GFI SR R &

3. only conclusion II follows / Had fISHY 11 SITTRUN Hal &

4. only conclusion I follows / A FT5HY I SFIHRUT HdT §

Correct Answer :-

« only conclusion II follows / Had e 11 STTIRUT hdT ?

39) Complete the series choosing the missing number: / &l JET s m Ca T ﬁﬁlﬁ:
6,12,20,30,

1. 50

2.40

3.46

4. 42



Correct Answer :-

)

40) Complete the series choosing the missing number: / & T AP YWl Ea| U PifoTg:

2,5,8,11,14,17,

Topic:- Mental Ability and Mental Aptitude

1) In the sequence shown below, which figure comes next? / Al
fer R oo #. 3mrelr A @i o 3mein

Ll A

® B B




4.

Correct Answer :-

2) Ifthe following two squares shown below overlap, which one of
the following options is formed? / Afg e = 21 a7 i

g £ e 7 4 &l @1 & ey a9

v

LA s
L

""u"



Correct Answer :-

Fid
[ ]

3
) In the sequence shown below, which figure comes next? / A<

T3 9131 & #, 3970l el i T 3RER

c v\ e 11 ?
13
13

31

el

Correct Answer :-

A |

4) Two pipes can fill a tank in 5 hrs and 20 hrs, respectively. A third pipe can empty the tank in 10 hrs. If
all the three pipes are opened simultaneously, then, how long will it take for the tank to get filled? / 33[

UTSY U 3 &I HHTM: 5 He 3T 20 ¢ H WX TP & | TP dIR1 UTSY 59 3 &1 10 G W Trefl H-
Topdl g | afe 91 urgy veary @id fou wire, a) ¥ WA § fan gwy e

1. 6 hrs 40 min / 6 9¢ 40 .
2. 4 hrs 20 min / 4 °¢ 20 fa.
3. 4 hrs 30 min / 4 °¢ 30 i,

4. 5 hrs 20 min / 5 9¢ 20 .

Correct Answer :-



e 6hrs 40 min/ 6 ¢ 40 TH.

5) Amita is a mother of four children. If all her children were born in consecutive leap years and if the
average of all the four children was 10 years, then find the age of the eldest child? / 3f¥rar 4 a=af Y AT
21 9fe 3P IR 9= AR oty Ut A UeT U & SNk 3ud 9t a=i @t iy 3mg 10 9 €, <t
94 92 7= B g fhal 82

1. 14 years / 1499
2. 15 years/ 15 Gl
3. 12 years / 1299

4. 16 years / 16 Gl

Correct Answer :-
e l6years/ 16 CL

6) A man is standing on a railway platform, which is 180 m long. If he finds that a train crosses the
platform in 20 sec, but crosses him in 8 sec, what is the length of the train? / Y fad T 180 . Flﬁ'
¥4 We Wi UGS 3| 98 STl ¢ foh T YS! Wewd & 20 1. § 3R 39 8 . § UR el §,
a3 3t s forast 82

1. 80 m / 80HI.
2. 100 m / 1004,
3. 150 m/ 1504,

4. 120 m/ 1209,

Correct Answer :-

e 120 m/ 1209,

7) 7 students can finish 7 projects in 7 days. How much time would 1 student take to finish 1 project? /

ard faendf 7 wisiae &1 7 G o w1 wwd &1 1 ieide &t 1 e v 3w d wr s
1. 1day/1fad

2. 14 days / 14 faA

3. 12 days/ 12 f&A

4.7 days / 7 f&

Correct Answer :-

« 7days/7faA



8) Sita and Gita have their ages in the ratio of 3:2. After 5 years, their ages will be in the ratio of 8:7.
Find the present age of Gita. / YT 3fX 7T B 3T HT 3TUTH 3:2 3| 5 T TG IADT 3G PT SUTT
8:7 81 SITaT 8 | a1 B adA= oy fpat 82

1.4
2.2
3. 15

4.8

Correct Answer :-

9) A school operates 11 sections of equal size. Earlier it operated 13 sections but after admitting 4 new
students, the administration decided to redistribute the sections. So the number of sections was reduced
but with equal number of students in each section. If each section has 24 students now, what is the total

number of students in the school? /Wﬁﬂﬁl’q 11 Wﬁ?ﬂ"ﬁﬁmiﬁmal Wﬁm 13
faurT #2 fou o € AP 4 3R 7= & WA & 91 W= fAHTN & qAdiifewor &1 e swar
21 IRUITRGS U U fAURT o g ot eI JHE Hd g¢ YT 3t W@ ger Y wirdi 8 1 afe e
TS faumT § 24 faendf & Y faemery & fyenfal @) g S feat 82

1. 260
2. 250
3.264

4. 134

Correct Answer :-

. 264

10) If a - 4b = 20 and 6b + 5a = 22, then a - b=?/AfG a - 4b = 20 3{R 6b + 5a = 22, dla - b=?
1. 11

2. 14

3.5

4. 30

Correct Answer :-

e 11



11) A rectangular park, 70 m x 30 m has two roads, which are 5 m wide, one parallel to its length and
the other to its breadth. How much will it cost to gravel the roads at Rs. 4 per sq m? / 70x 30 ez I am
T3 TP TSR T A TP TS 3R AISTS &b AR 5 HieR A3 2 TJgb g8 T 14 5
Fii-Hiex Ft X A SR ToR! fIs™ & e fFam sual ot smaxgwar g2

1. Rs. 475 /475 %.
2. Rs. 1,900 / 1900 ¥=.
3. Rs. 1,425/ 1425 %.

4. Rs. 950/ 950 ¥=.

Correct Answer :-

e Rs. 1,900/ 1900 ¥=.

12) A number when divided by the sum of 636 and 364 gives quotient equal to their difference and

remainder as 6. What is the number? /W\‘F@Tﬁm 636 3N 364 %mﬁﬁmﬁa%mm%a‘r
T HRTH A S G&AT3 & 3R & R 3R AUB 6 341 8 | g T HT 8?2

1. 272006
2. 27206
3. 1272

4. 12706

Correct Answer :-
e 272006

13) A cloth merchant, on selling 27 metres of cloth, obtains a profit equal to the selling price of 9 metres
of the same cloth. Find his profit percentage. / T hUST HTIRY 27 Hiex DPUST IBR SHI FUS F 9
Hier & Iy gou & TRTER ATY HTET 8 | A1y afa=ra 31d $31

1. 50%

2. 60%

3. None of the above / dqi;idd ) Oh\lir:l%)[

4. 40%

Correct Answer :-



14) A patsman makes a score of 80 runs in the 150 inning and thus increases his average by 4. Find his

average after 15 inning. / T geaiaTel gRT 1591 U # 80 T 9971 | IHBT 3 4 3P 9¢ AT &
1541 U} & q1¢ IHPT 3N 19 B

1. 42
2.24
3. 136

4. 112

Correct Answer :-
e 24

15) In a school, 40 % of students are boys. If the total number of students in the school is 960, find out

the number of girl students in the class? / TP e @ 40% ?I'C‘»"a? %', gfe faemea o faenflal #t Pd
& 960 B it ey A asfeal @) wen fHa 82

1. 728
2.478
3. 400

4. 576

Correct Answer :-
e 576

16) A can do a work in 15 days and B can do the work in 10 days. How many days will take to complete
the work, if they do simultaneously? / A fooet e &1 15 e | URT HdTl 2 YT B 3 ST @ 10 foAT
B T a1 31 9fe A S TH Ty B B al S fobaq fa1 & g1 8t S

1. 6 days / 6 fa
2. 8 days / 8 a1
3.9 days /9 faq

4.5 days /5 fa

Correct Answer :-

« 6days/6fad

17) Lila and Kumud are older than Rashid and Nalin. Yash is younger than Rashid, but older than
Nalin. Mukul is younger than Lila, but older than Kumud. Arrange the group in increasing order of age.



/ AT 3R $Yg, W1 3R Afe @ 98 1 a2, 7RG A Bier g dfew Ao @ g1 1 gopa, dar @
BieT ¢ AP $YS | TST 2| 39 YL P! 9 gal Mg & HH W sqafRud &1 |

1. Nalin, Mukul, Rashid, Kumud, Yash, Lila / e, G, R01R1G, $HG, T, dell
2. Nalin, Yash, Rashid, Kumud, Mukul, Lila / ¢, =1, RS, $Yg, o, e

3. Lila, Mukul, Kumud, Rashid, Yash, Nalin / e, G, $4g, MR, I, AfeH

4. Lila, Yash, Kumud, Rashid, Mukul, Nalin / §ITalT, I%1, $Yg, 11R1e, G, Al

Correct Answer :-
« Nalin, Yash, Rashid, Kumud, Mukul, Lila / e, T2, 1<, $Ha, GHd, Al

18) The average price of 3 items is Rs. 300. If their prices are in the ratio 3 : 5 : 7; find the price of the

costliest item. / -1 TEG SN BT ST G 300 3. 31 TfE ST GeRI BT UG 3 : 5: 7 B, @l IAH
Y Yo a3q BT G J1d He |

1. 100
2.75
3. 140

4. 60

Correct Answer :-

e 140

19) The average monthly expenditure of a family during the first 6 months is Rs.51,000 and the average
monthly during the last 6 months of the year is Rs.45,000. Find the average monthly expenditure of the

family for the whole year? / U URRAR &7 3NTd @ a9 & UgA 6 HEIA H 51000 . 3R 3nf@d 6
TEH ® 45000 3. 81 39 URaR gR1 Gwyut a¥ &1 3ivad @ fa=i ghm?

1. Rs.47,000 / 47,000 ¥=.
2. Rs.47,500 / 47,500 ¥=.
3. Rs.48,000 / 48,000 ¥=.

4. Rs.49,000 / 49,000 ¥=.

Correct Answer :-
e Rs.48,000 /48,000 3=,

20) A watch was bought for Rs. 530 and sold at 4% gain. Find its selling price. / T® EI@ 530 %. ®
TRIGHT 4% 1Y W 99 <t T | 391 fasva gea Farait



1. Rs. 551.20/551.20 ¥=.
2. Rs. 451.20/451.20 ¥,

3. None of the above / wjaﬂﬁﬁaﬁéﬁ

4. Rs. 351.20/351.20 %.

Correct Answer :-
e Rs.551.20/551.20 3.

21) The cost of an article is Rs. 9,180 after getting 15 % discount. What is the original price in rupees? /

o avg BT g 15% Pt Fe F 916 9180 . 3| IUA H 3BT IRATAD Yo T 87
1. Rs. 10,800 / 10,800 ¥,
2. Rs. 10,900 / 10,900 3.
3. Rs. 10,700 / 10,700 3.

4. Rs. 10,850/ 10, 850 ¥=.

Correct Answer :-
e Rs. 10,800/ 10,800 %=,

22) Ram gives Rs. 10,000 to his son Shyam, and asks him to distribute Rs. 3,425 each among his two

sisters. How much money is left with Shyam? / T = 30+ T TATH B 10,000 FYY GHR I a8+ DI
3425 TUY ¢4 B HaT| TN & I faq . T2

1. Rs. 3,250 /3250 ¥=.
2. Rs. 3,200/ 3200 ¥=.
3. Rs. 3,050 /3050 ¥=.

4. Rs. 3,150/ 3150 ¥=.

Correct Answer :-

e Rs.3,150/3150 ¥,

23) Twelve women can complete a piece of work by working 10 hrs a day for 20 days. How many days of
15 hrs each would 16 men require to complete the same task, if 4 women do as much work as 3 men? /

T 3Nva ufafe 10 9 oW HF frelt vH B 20 27§ T w2 A &1 afe 4 3N 3 s &
IR HTH Hl €, a1 16 e I w18 &1 ufafeq 15 69 w8 F fbaq fo7 & @ w2 udwe

1. 8.5 days /8.5 fad



2.7.5days /7.5 faq
3.12.5 days / 12.5 fa

4. 10 days / 10 faa

Correct Answer :-

e 7.5days/ 7.5

24) Two numbers are in the ratio 7 : 8. If 3 is added to each of the two numbers and their
ratio becomes 8 : 9; the numbers are: / G TBAT3HT HT IJUTT 7:8 §1 Al 37 S G A 3
Sits faar 9l &Y 39T SrguTd 8:9 B WiTdT §, W&y giift:

1. 16,18
2. 14,16
3.21,24

4. 24,27

Correct Answer :-

25) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ a1 f&d M 9 uat § 9 i i3l M vd & St w9 19 |1 Te 81 82
Ken Burns,

Poligono Clot de Moja,

C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(i) Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(ii) Ken Burns,

Poligono Clot de Moja,



C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(iii) Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(iv) Ken Burns,
Pollgono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

4, iii
Correct Answer :-

e iv

26) If 10% of X = 20% of Y, then X:Y =2/ gfe X FT110% = Y &I 20%, dd X:Y =?
1.3:2
2.2:3
3.1:2

4,2:1

Correct Answer :-

27) If the product of two numbers is 120 and the sum of their squares is 289, then the sum
of the numbers will be: / afe Gt TW3H HT TUHET 120 § 3N I7P TN T ART 289 &, A I
T=raf T IR B



1. 40
2.23
3.26

4. 35

Correct Answer :-
e 23

28) In 1985, the profit for a certain product was 25 %. In the next 3 years, the cost price
increases by 10 %, 10 %, and 20 %; also the sales price increases by 15 %, 10 %, and 20
% . What is the profit percentage now? (Approximately) / 1985 ﬁ, Th JUIG U¥ dTH 25% %I
3T i aut §, afe @R geu & 10%,10% 3AR 20% Pt gfF gt & 3N fawa geu & off 15%,
10% 3R 20% F} g Bt 81 TAH H ATH BT Ufa=rd w1 82(FTHT)

1.273 %
2.32.4%
3.357%

4.30.7 %

Correct Answer :-
e 30.7%

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /#ﬁ?ﬁﬂémﬁ, a&maﬁ?m&ﬁmwmﬁrﬁaél mmﬁaﬁuﬁﬁq

i. tranil1209itnar
ii. trani1509itnar
iii. tranil209itnar
iv. trani1209itnar
1.1v

2.1

3.1l

4. iii

Correct Answer :-



30) Find the average. / 3Nd Ad HY|
65, 66, 67, 68,67 & 7

1. 67

2.58

3.68

4. 64

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)
z?m +4 w5 55m+3 z?m +4 W 55m+3
The value of ——om——- = T FT AT 5T B
1.0
2.2
3.10
4.1

Correct Answer :-

2)

AB is a chord of a circle with center at O and BOC is a diameter. If OD 1 AB such that OD =
6cm, then AC = .1 AB, &% O @l grd & oiar & 3T BOC & =01& &1 If5 OD L

AB & & &% OD =69 drAC = :
1. 12cm
2. 15cm

3. 18cm



4, 6cm

Correct Answer :-

e 12cm

Ifx+}f=5andxy=6:thenthevalueof%+ izwillbe:i I x+y=5ddTxy
=6, A — + — & A A5 gem:

13

26
1.

1

3
2.

13

23
3.

1

2
4,

Correct Answer :-

13
26
4)

Find the value of "%’ satisfving the Equatiun§+ %— §= 7. | \HARLOT i—r+ g— E= 7 @i HC
F alel x° & AT FT AUAT FY

1.24
2.10
3.12

4.7

Correct Answer :-



5)
In the given figure, straight lines AB and CD are intersected at O.

If #/AQC + #BOD = 130°_ then £AQD = .| Bw e a7 &, @l @ AB 3R CD f§g
0 9 yigeafed &adr £ 92 £AOC + 2BOD = 130°, &1 £AOD = )

D,
.
q -
c B,
1,65
2. 125
3. 105
4115

Correct Answer :-

6)
(247 + 73 )=
1. 125
2. 15625
3. 625
4. 3125

Correct Answer :-

e 15625

7) Deforestation leads to:/ ﬂTﬂT'F-I G



1. Increase in oxygen / 3o A Q'@
2. Increase in carbon dioxide / AR KIESIESIES ﬁq@

3. Increase in nitrogen / '_'lléél\_rl'_-l ﬁq@
4. Decrease in carbon dioxide /Eb—la.:f SIENICSIES HHH!

Correct Answer :-

e Increase in carbon dioxide / GARD KIESIESIES ﬁq@

8) A paper is in the form of a rectangle ABCD in which AB =20cm and BC = 14cm. A
semicircular portion with BC as diameter is cut-off. The area of the remaining portion is: / T

ST, TP 3T9d ABCD & FU & & R AB = 20 §H. 99T BC = 14 G, 81 v ar $ =4 & BC
14T TP SGgTPR HITT HTT STl 3 | AT YR BT & A 2

1. 280cm?
2. 203cm?
3. 77cm?

4. 283cm?

Correct Answer :-

« 203cm?

9) Vinu gave a loan of Rs. 200 to Harish and recovered it at the rate of Rs. 14 per month for

twenty months. The rate of simple interest charged is: /?ﬂﬂﬁ TR BT 200 3. BT HUT T 3R T 20
T 91¢ 14 %. Ufa W1 &) &% W a1y foram| aelt 1€ wruror saret &R A 8

1. 24%
2.26%
3. 16%

4. 12%

Correct Answer :-
e 24%

10) If y% of 61 + 81% of 61 = 61% of 90, then y will be: / TfS 61 BT y% + 61 BT 81%, 90 BT 61%
?, a1 y &1 U= e g



1.32
2.72
3.9

4. 15

Correct Answer :-

11) If two adjacent angles of a parallelogram are equal, what is the measure of each of the

angles? / fe T THIGR IgUT & S STH~ HI0T RISR &, <t TS HI0T 6T JTY T §R1?

1.120°

o

2.90

o

3.45

o

4. 60

Correct Answer :-

o

« 90

12) The smallest number by which 28812 must be divided so that the quotient becomes a perfect

square is ./ 9% BIEI A BT G=A 2 o1 28812 ) faunford w37 W YRTEa gof
I B AT g |

1.3
2. 49
3.14

4.2

Correct Answer :-

13) What must be subtracted from 14x> — 5x2 + 9x — 1 so that the resulting polynomial is exactly
divisible by 2x — 12/ 14x3 — 5x2 + 9x — 1 ® ¥ a1 werar ¢ {5 ufkomd} 9gug 2x — 1 A WiETH
favrfora gt eme?

1.1



2.4

3.1

4. -4

Correct Answer :-

. 4
14) What is the probability that a number selected from the numbers 1, 2, 3,...... ,15is a
multiple of 4? / TBI3MT 1, 2, 3,......, 15 " Gl T qT<H Th H&AT & 4 BT IUNP g4 DI WIRAGAT T
2
z
15
1.
1
15
2.
1
3.
2
15
4,

Correct Answer :-

| =

15) A fine layer of gold deposited on silver ornaments is called ./ il'l'cﬁ & TIET-ﬁ TR {1 I1 Bt
TS Yl IRd i FET A

1. sterling siIver/Eﬁf”Ta—m

2. silver plated / I5ld wigd

3. rhodium plated /AfSTH wfud
4. gold plated / gof wifta

Correct Answer :-

« gold plated / ¥q0f Afd



16) Fruit juices turn bitter if exposed to open because: / el & 39 Qﬁ AIWA W ﬁa HEEICE
Fife:

1. Enzymes are present in them / I T~ITgH ﬁ\—{@r ?Ia % [

2. Oxidation of juice at room temperature takes place /B P ATTHH R T BT &ﬁwm%l

3. Micro-organisms are present in air / §dl A J&H St SufRd Eﬁ?f % [

4. Fermentation takes place by yeast cells /ﬁv_Ua:[, THR ﬁﬁm@hm@mél

Correct Answer :-

» Fermentation takes place by yeast cells /ﬁv_Ua:f, THR ﬂﬁm@hmsﬁ‘cﬂ%l

17) The shape of the orbit in which a comet revolves around the sun is: / F&T 1 GTITI%T forad %gq%
Td & IRY 3R AT 8, gt @

1. Circular / dedlbR
2. Semi-circular / @-W
3. Parabolic / IRAARIH

4. Highly elliptical / 3 ¥U § <rIqaIdR
Correct Answer :-

« Highly elliptical / 3% ®U § SrHqalIdR

18) A magnetic compass needle placed near a current carrying wire shows a deflection. The effect of

electric current demonstrated here is: / YTRT YaTed §11 dTd AR & fAde @l §§ ﬂ'ﬁ?ﬂ'ﬂ S DI
s foae gifdt 81 ggi welia fagaa urT &1 yure fF=r 8:

1. The chemical effect of electric current / ﬁ_g{q?f YRT BT D YT
2. The heating effect of electric current / ﬁ'cgq?r YRT DT SHH THTT
3. The magnetic effect of electric current / ﬁ_g{qﬁ YR dT W UHIq

4. The mechanical effect of electric current / ﬁ’g{ﬁlﬂ YRT BT TifA THTT

Correct Answer :-

» The magnetic effect of electric current / ﬁ_g{qﬁ YRT dT W UHIq

19) A food chain always starts with WG] WFIT ﬂaﬂ & 1Y AR Eﬂ?ﬁ %I
1. nitrogen fixation / TS¢ oI fARETOT



2. photosynthesis / UhTRT AT
3. decay / &4

4. respiration / AY

Correct Answer :-

« photosynthesis / TeRTRT AU

20) Which one of the following statements is INCORRECT? / fradasaar Th Y- Tedd %?
1. Husk of coconut is made of sclerenchyma tissues. / AIRTd &1 fsaat m AP 1 Eﬁ?ﬂ %I
2. Xylem and phloem are forms of complex tissues. / WHWW\WW Al @@Eﬁﬁ%l

3. Collenchyma gives flexibility to plants. / PRLNRER B ANEINICE! Ucld hdl %I
4. Cells of cork contain a chemical called lignin. /ﬁﬁaﬁﬁw&hﬁwaﬁ%ﬁ@r NIPE WTGHHT%I

Correct Answer :-

e Cells of cork contain a chemical called lignin. /ﬁaﬁaﬁﬁme’hﬁwméﬁl@r NIPE WGT?‘IT%I

21) Name the group of animals which have haemocoel. / q'%'[s?rﬁ 39 JHE PT AMH ddIg¥ o
YR Bl @

1. Amphibians | TRpITSa

2. Pisces / H]
3. Arthropods and Mollusca / aﬂ@hﬂﬁ:ﬁ;mnﬁw
4. Annelids / Q"-i are

Correct Answer :-

» Arthropods and Mollusca / aﬂ@hﬂﬁ:ﬁ;mnﬁw

22) Rabies is caused by the bite of . /WT?T _%W%WW?I
1. dog onIy/WW

2. monkey onIy/WW

3. cat onIy/Wﬁc—c‘ﬂ

4. All the above /B'qgfﬁﬂ’-'-ﬁ

Correct Answer :-



e All the above /B'Cl'ﬁiﬁﬂlﬁ

23) A shiny brown-coloured element ‘X’ on heating in air becomes black in colour. Name the
element ‘X’ and the black coloured compound formed. / d1g T TP THPGR 'l-B‘ T BT ad "X TH
B WR T A H1a1 81 Srd1 81 9 X a1 fAfifa 819 are s1a 3 & 9ifire &1 9 gang|

1. ‘X’ is copper (Cu) and the black-coloured compound formed is copper(l) oxide (Cu,0). / ‘X’ ALK (Cu) %H‘CIT
fAftfa o1a 31 &1 IS HIUR(1) HTES (Cu,0) B

2. ‘X’ is copper (Cu) and the black-coloured compound formed is copper(ll) oxide (CuO). / ‘X’ PIA (Cu) %HﬂTﬁﬂﬁH
HTA T HT GRS HIIR(11) RS (Cuo) B

3. ‘X’ is silver (Ag) and the black-coloured compound formed is silver oxide (AgO). / ‘X’ %ﬁ'cf’r (Ag) %amﬁﬁfﬁ?ﬂﬁ
1 &1 A RieaR SRS (Ag0) B

4. ‘X’ is iron (Fe) and the black-coloured compound formed is ferrous oxide (FeO). / ‘X’ T“ﬁ_e' (Fe) %H%ﬂﬁfﬁﬁaﬂﬁ
1 &1 A HRY TS S (FeO) B

Correct Answer :-

e ‘X’ is copper (Cu) and the black-coloured compound formed is copper(Il) oxide (CuQ). / ‘X’ PR (Cu) %H?ﬂﬁﬁﬁ
BT T BT TS HIOR(11) RIS (Cuo) B

24) It is easier to carry a suitcase by: / T% b P TH & WHT 3RIH Bl 8:
1. Carrying it on head / RR IR o SR

2. Holding it in hand / 1Y H TSR

3. having rollers fixed on to it / 39 UX A RR b

4. Dragging it along the ground / SHH IR Tite B

Correct Answer :-

« having rollers fixed on to it / 39 TR Y fRR TRp

25) Look at the following numbers below:
(i)-(85)%® (ii) (-85)% (iii)—(85)%° (iv)=(-85)%

Which of the above number(s) is/are greater than 0? / %1 H&I3if B ¢
(i)—(85)% (ii) (-85)°° (iii)—(85)% (iv)=(-85)°%°

SRIF # ¥ B I W&/, 0 9 931 3/3 |

1. Only (iv)/®ad (iv)

2. Only (ii)/%ad (ii)



3.(i), (ii)and (iv)/ (i), (ii) 3R (iv)
4. (ii)and (iv)/(ii) MR (iv)

Correct Answer :-

« Only (ii)/®ad (ii)

26) If radius of a cylinder is doubled, its volume is increased by: / gfe Udh CREEIRERY] @'{Fﬁ g |
WY, df 39& gaT | T ggiast g

1. 8 times / 8 T[T
2.2 times /2 T[T
3.7 times /7 T[T

4. 4 times / 4 T[T

Correct Answer :-
o 7 times /7 T-I

27) Lithosphere consists of . /Wﬁ—miﬁa%l

1. air/dig

2. land or soil / Y& A1 Gl
3. sky / SATHRIRT

4. water bodies / ST (BT

Correct Answer :-

* land or soil / H&I’CITHET

28) The cells in the root apex and shoot apex are called meristematic because: / 5§ Y 3R

WRIT XY & SIReH Ausdias! sgard § wife:

1. They help in the conduction of water and food. /3 5@ 3R HISH & UdTgdhd B JeTadl Bl ¢l

2. They differentiate into different plant parts. /3 faf¥e el & HFT # 3fcR Bl B

3. They support the plant. / 3 O1e 1 3MYR U et g

4. They keep on dividing forming new cells. / d T3 HITRAB13M BT FAH0r B I fauiId et z&<ht 8

Correct Answer :-



« They keep on dividing forming new cells. / 3 T3 HIR@®1ST &1 AT B g fAuIiord gt &< B

29) Which of the following is/are true when water changes into ice? / wwaﬁ?ﬁmm%, Gl

Fafafea d s a2

(i) Its state is changed from liquid to solid / ST AT 4 A 319 H ufafdd gl Sl &
(ii) It changes smell / 98 7Y Sgadl &

(iiii) It does not change taste / U8 ¥dTG # URafdd gl s1aT &
(iv) The change can be reversed / UR@d- SpfAd g1 Ahdl 8
1. (i), (iii) and (iv) only / aa (i), (iii) TUT (iv)

2. (ii) and (i) only / ad (ii) T (iii)

3. (i) to (iv) / (i) ¥ (iv)

4. (i) and (i) only / Pad (i) T (i)

Correct Answer :-

« (i), (iii) and (iv) only / 3aa (i), (iii) TUT (iv)

30) Which one of the following organisms undergoes external fertilization? / fw oiiai # 3 fow Udh

H S glar g2
1. Cat / ot
2. Frog / Aeh

3.Hen/ HTff
4, Goat / T

Correct Answer :-

e Frog / Hedh



